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Section A

Read the questions carefully.
Write the correct answers in the boxes provided.

1. Circle the missing shape in the blank to complete the pattern.

O

OahOah 2




2, Nome the 3D shape below. -

rd

3. Adam has 8 bags. He puts 3 books in each bag. How many books
does he have altogether?

4. Sarah bought 20 erasers. She shared them equally with 4 friends.
How many erasers did each friend receive?




5. What fraction of the figure below is shaded?

of the figure is shaded.

6 Colour % of the circle,




7. Fillin the box with '<’, '>' or =",

11
12

9. Find the sum of = and

2
g




10. Bobby has a $5 note, two $1 coins and one 5¢ coin.
How much money does Bobby have?

$
1. 830 cents = [$
12. Circle the most expensive item.
| schoolbag _ pencil case wallet

$49.90 $9.85 $94.10



Answer Question 13 and 14

Jean went to the store to buy some electronic products.

RECEIPT
. Headphohes” " ¢58

Power Bank $31

OO ———

TOTAL ? §

13, How much did Jean spend?

14. Jean gave the cashier two $50 notes. How much change did she
receive?




15. How much water is there in the container?

16. The containers below are filled with different volumes of water,

Conlainer A ContainerB  Container C
700ml 150 mi 500mi

Arrange the containers from the greatest volume of water to the
smallest volume of water.

greatest ! '




Answer Question 17 to Question 20

The picture graph shows the number of apples Mr Joe sold in five days.

vondoy | (9 (9 9
wesdoy | (%) ()
wesmsser | () (5 (5 O
ey |

e 5 OO0

1 Each @ stands for 2 apples.

17.Mr Joe sold the most number of apples on

18. He sold twice as many apples on as on Tuesday.

19. The total number of apples sold on and

is the same as the number of apples sold on Friday.

20.The fotal number of apples sold from Monday to Thursday is




Section B (5 X 2 marks)

Read the guestions carefully,
Show your workings and equations clearly.

21.  Mrs Lim bought a.dress and 3 pairs of shoes.
The dress cost $42.
She spent ¢ total of $64.

a} How much did the 3 pairs of shoes cost?

-

The 3 pairs of shoes cost

b) What was the cost of each pair of shoes?

H

O

Each pair of shoes cost




22. Astool costs $22 and o table costs $49.
Mei Li needs $7 more to pay for both items.

a) Whatis the total cost of the stool and table?

H

O

The stool and the table cost

b} How mut:h money does she have?

11 (O

She has

10




23. There was 40 £ of milk in a contdiner.
Lisa filled 8 jars with 4 ¢ of milk each.

a) What is the volume of milk in the 8 jars?

The volume of milk in the 8 jars is _

- -b)- How-much-milk was left in the container?

O

There was of milk left.




24, There are 156 pencils in Box A.

There are 78 more pencils in Box B than Box A.

a) How many pencils are there in Box B?

O

_pencils in.Box B.

i

There are __

b) Find the total number of pencils in Box A and Bch B.-

O _

The total number of pencils is _




25. Jar A and Jar B have a totdl of 641 biscuits.
Jar A has 375 biscuits.

a} How many biscuits are there in Jar B?

O

There are biscuits in Jar B.

) How many more biscuits. are there in-Jar A than in Jar B?

O

There are more biscuits in Jar A than Jar B,

il

End of Paper
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$11.00

Q14)
Q15) |6
Q16) Container A, Container C, Container B
Q17) | Friday
Q18) | Wednesday
Q19) | Monday and Tuesday
Q20) |20
Q21) a) 66-42=24
The 3 pairs of shoes cost $24
b)24+3=8
Each pair od shoes cost $8
Q22) |a)49+22=71
The stool and the table cost $71
b)71 -7 =64
She has $64
Q23) |a)8x4=32
The volume of milk in the 8 jars is 32L
b)40 -32=8
There was 8L of milk left. .
Q24) | a)156 +78 =234
There are 234 pencils in Box B.
b)234 + 156 = 390
The total number of pencils is 390
Q25) |a)641-375=266

There are 266 biscuits in Jar B.
b)375 — 266 = 109
There are 109 more biscuits in Jar A than Jar B.

Pg 2






